Name : ___________________________  Date :  _________________

COMPILERS AND INTERPRETERS QUIZ 

1.  Directions:  Show the output of each of the following lines of code. 

T-F
1.  Machine language instructions use 0s and 2s to represent the status of a switch.

2.  A high-level programming language consists of English-like instructions.

3.  COBOL is an example of a low-level programming language.

4.  Machine code is comprised of 1s and 0s.

Multiple-Choice:  Choose the best answer by circling it. 
5.  Which programming language is considered a third generation programming language (3GL)?

a.
machine language
c.
SQL


b.
assembly language
d.
C

6.  Which programming language is considered an object-oriented language?

a.
Fortran


c.
SQL


b.
Java


d.
C

7.  Java code typed by a programmer is called

a.
bytecode.

c.
source code.


b.
machine code.

d.
compiled code.

8.  Compiled Java source code is called

a.
bytecode.

c.
source code.


b.
machine code.

d.
compiled code.

Fill in the Blank
9.  A ______________________ translates Java source code into bytecode.

10. _______________________ translates one code of line at a time and then immediately executes the instruction.







